PACKING LIST FOR FSV85

Box 1 - FSV851

0 N O b~ WDN =

©

10
11
12

Part No.

FSV851
000-155-839-10
000-157-874-10
000-155-786-10
000-157-570-10
000-159-017-10
000-159-417-10
000-157-247-10
500-310-040-10
OME-133-30Z
IME-133-30Z
C12-003-02Z

Box 2 - FSV8503

N o o wWwDN -

Part No.

FSV8503
000-157-787-10
000-155-775-10
000-162-614-10
000-162-167
000-164-608-10
C42-007-052

Box 3 - FSV8501/10

N o o wWwDN -

Part No.

FSVv8501/10

100-358-860-10
100-358-880-10
100-360-260-10
000-171-997-10
000-171-999-10
000-167-383-10

Wt: 234 Ibs. Dim: 39"x33"x23"

Description Quantity
Transceiver Unit 1

Fuse 10A 250V
Fuse 15A 250V
Fuse 20A 250V
Fuse 5A 250V
Connector (8016)
Contact Pin (8017)
Crimp-on Lug FV2-4
Copper Strap
Operator's Manual
Installation Manual
Voltage Setting Document

e el SR ) N &) B¢ B¢ |

Wt: 40 Ibs. Dim: 21"x21"x13"

Description Quantity
Processor Unit 1

Fuse 10A 250V

Fuse 20A 250V

Tapping Screw 6x30

Cable Tie CV-100N

18P NMEA Cable Assy 2m
Exchange of Fuse Document

O N N N

Wt: 13 Ibs. Dim: 19"x12"x9"
Description Quantity
Control Unit w/10m Cable 1
Keyboard Fixture
Cap
Flush Mount Sponge
Tapping Screw 5x20
Binding Head Screw M5x12
Wave Washer WW-5

i N NG NN NN

Page 1 of 2

For Internal Use Only

Serial No.

Checked By:
Tech
Date
FSV851
Yes Remarks
SP10-03101
CP10-07011
FSV8503
Yes Remarks
SP19-00501
CP19-00601
FSV8501/10
Yes Remarks
CP03-33202
CP10-07201




PACKING LIST FOR FSV85

Box 4 - FSV8502

O b WOWDN =

Part No.

FSV8502

000-174-158-11
000-174-486-10
000-162-608-10
000-162-167-10
000-173-052-10

Box 5 - FSV8442

0 N O O b~ WD -

©

10
11
12
13
14
15

Box 6 - 000-162-862-10

1

Box 7 - 001-240-550-00

1

Box 8 - 001-196-390-10

1

Part No.

FSV8442
000-157-497
100-334-030-10
100-334-040-10
000-158-976-10
000-166-744-10
000-167-401-10
000-167-452-10
000-167-476-10
000-162-825-10
000-163-167-10
000-162-684-10
000-158-252-10
IME-132-90Z
IMJ-132-90Z

Part No.
000-162-862-10

Part No.
001-240-550-00

Part No.
001-196-390-10

Rev 1/21

Wt: 13 Ibs. Dim: 19"x16"x10"

Description
Interface Unit

LAN Cable Assy 3m

Power Cable Assy 3m

Tapping Srew 5x20
Cable Tie CV-100N

Conductive Cloth Tape 60mm

Quantity
1

= BN A A

Wt: 1,200 lbs. Dim: 103"x28"x40"

Description
Hull Unit

Fuse 2A 250V

Handle Fixing Plate 1
Handle Fixing Plate 2

O-ring

Crimp-on Lug FV5.5-4

Spring Washer M20
Flat Washer M20
Hex Nut M20

Hex Head Screw M20x120
Washer Head Screw M4x10

Wing Bolt M4x10

Ratchet Wrench RN2430L

Installation Manual -
Installation Manual -

Description

English
Japanese

Quantity
1

ao_)_\_\_\_\

-
(o]

= A NN

Wt: 11 lbs. Dim: 15"x15"x7"

Interconnect cable 8m

Quantity
1

Wt: 58 Ibs. Dim: 23"x23"x11"

Description
LAN Cable 100M

Description
5 Pair Cable 100M

Quantity

Wt: 55 Ibs. Dim: 19"x19"x7"

Page 2 of 2

Quantity

For Internal Use Only

Serial No.

Checked By:
Tech
Date
FSV8502
Yes Remarks
CP10-07301
FSV8442
Yes Remarks
SP10-02603

001-008-160-00

000-162-862-10

Yes Remarks

001-240-550-00

Yes Remarks

001-196-390-10

Yes Remarks




